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A2.

1° tpémnog
G(x) = [ f(u)du pe G'(x) = f(x) >0
Apa G ISn)\. 1-1

G = [ f(u)du=0

aoc: [ f(U)du =0 G2F'(x) = G(1) & 2f'(x) =1 f'(X) =%
2° tpénog
o) f ouvexng oto R KOLLI apa:
f(R) = (Xllrrlw f (%), XILer f(x))=(0, +x)
AdoU XILrE0 f(x)= Xliﬂ]oo i & X|Lr['|m(e" —1)-% =(-1).-0=0
lim () = lim e"x— gxlir[]wex e
Apa f(x)>0, xeR
Av umdpxet X, € Rpe 2f'(x,) >1
Toe: [ f(u)du> 0 drono.
Av urdpyet X, € Rue 2f'(x,) <1
Tote: ff'%) f(u)du <0 droro.
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2f'(x) =1 2f'(X)-1=0 f'(x):%@ex'xx;fx*l%@ 2x-e* —2¢" +2-x2 =0

Mpodavn¢ pila x=0



Eotw P(X) =2xe* —28* +2-x*, xeR

@'(X) =2e" +2xe* —2e" —2x = 2¢x- (e” Il)

0 0

X 0

4 + # s

o b

Apa n x=0 povadikn pila.

B) Exw y(t) = f(t) dpa:

XV -1
MO s e
i X(t)=0

Oeélw X'(t) =2y'(t)
Apa €xovrag

F(x(©) = y()

x'(t)=0 1

F(x@®)-x O =y@® = %X'(t) R =
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A3.

et =1
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